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ELECTIVE COURSE : COMMERCE 

ECO-5 : MERCANTILE LAW 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. "All contracts are agreements but all agreements 10 
are not contracts". Comment. 

2. (a) Distinguish between 'Coercion' and 	5 
'Under-influence. 

(b) When can an agent appoint a sub-agent ? 	5 

3. "No consideration, No contract". Explain. Are 10 
there any exceptions to this rule ? If so, state them. 

4. Who are competent to contract ? Briefly explain 3,  7 
the position of minor under Indian law. 
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5. 	(a) How will you determine whether a group 
of persons is a partnership or not ? Explain. 

(b) Explain the circumstances under which the 	5 
court can order the dissolution of a 
partnership firm. 

5 

6. Define and distinguish between 'Condition' and 5, 5 
'Warranty'. Give examples. When does a 
'Condition' descend to the level of a 'warranty' ? 

7. State briefly the rules regarding the transfer of 10 
ownership of goods from seller to the buyer. 

8. (a) Distinguish between a contract of Indemnity 	6 
and a contract of Guarantee. 

(b) A sends a proposal to B by post. B dies 	4 
before accepting the proposal. B's legal 
representative accept the proposal. Is this 
acceptance binding on A ? Explain with 
reasons. 

9. Write short notes on any two : 	 5, 5 

(a) Doctrine of 'Caveat Emptor'. 

(b) Effects of non-registration of a partnership 
firm. 

(c) Distinguish between a bill of lading and a 
charter party. 
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